Workshop II – Practice spot 1: Collecting and organizing ideas

Task 1: Individual solutions

Task 2: 

(1) A short history of co-education in German schools: chronological order

(2) The pros and cons of attending an all-girls school: reasons for – reasons against.

(3) The British public school and its aims: cause to effect

(4) Why boys underachieve in modern languages: from the problem to the reasons and solutions

Task 3: Individual solutions.

 Workshop II – Practice spot 2: Writing paragraphs 

Task 1:

Topic sentence: There are three reasons why I want to learn English.

Supporting sentence 1: One reason is that English has become an international language.

Additional sentence: It is now used by most international companies, including the company

               where I work, for business communication.  function: fact/example.

Supporting sentence 2: Another reason why I want to learn English is so that I can travel to

               English-speaking countries.

Additional sentence: The United States, England, Australia and many other countries all use 

               English as their primary language.   function: examples

Supporting sentence 3: Finally, I want to learn English because I plan to move to the U.S. in 

               the future.

Additional sentence: I will become a manager for my company soon.    function: detail/fact

Concluding sentence: For all these reasons, I am very excited about learning English.

Task 2: Possible solution:

When Martin Luther King became famous in the 1960s, many Americans found the idea of giving more rights to African Americans unacceptable. 

Some were even prepared to fight for those beliefs and even kill civil rights activists.

On the other hand, some civil rights activists thought King did not go far enough and that a non-violent fight would not work.

Similarly, government authorities fought against King’s campaign for black civil rights.

As a result, there were heated discussions and conflicts in the media and the population.

Task 3: Possible topic sentence: In fact, children who have pets have many benefits.

Task 4: Cross out the sentence: Years ago there weren’t so many decisions to make.

Task 5: 

1. In general, cliques can be seen in a very positive light.(T)

2. First of all, they offer you company, help and understanding. (S1) 

3. If you belong to a clique, there is always someone there to phone and ask for help.

4. You can chat with friends in your clique and tell them problems and secrets. 

5. Secondly, cliques make sure that you know what to do in your free time. (S2)

6. In fact, people in a clique usually have the same interests. 

7. So you’ll never get bored if you belong to a clique – you can always meet someone. 

Task 6: Individual answers, swap with another member of your class.

Task 7: Model paragraph:

At the kindergarten, parents need to accept the growing influence of cliques on their child.

At first, children just often play with friends that are chosen by their parents, who usually supervise the playgroups, too. Most children are open and friendly. Usually a child’s first friends are other children who live in the neighbourhood. However, children can also be mean and this often starts as early as kindergarten or in school. Every class usually has one or two outsiders who are weaker than the others. As a result, they are bullied by other kids. The children who are a little different are rejected by the others. This makes life very hard for them.

Tasks 2, 3: Different solutions

 Workshop II – Practice spot 4: Using quotations 

2. Possible solutions:

The speaker claims that he is an expert on the topic. (l. 13)

The speaker warns that they have been focusing too much / paying too much attention to the differences between them.

3. Possible solutions:

· One of the best examples of the use of imagery is in line 4: “Love is war.” (l. 4) – The speaker makes his point very clear when he says that “[l]ove is war”. (l. 4)

· The Australian dream” (l. 7), as the speaker calls it, is …

· The author demands that “we need to break down our barriers”. (l. 15) – In line 15, the author makes a clear demand: “We need to break down our barriers.” (l. 15)

· The alliteration in the phrase “tolerance and trust” (l. 27) makes it easy to remember. – The speaker points out that “tolerance and trust” (l. 27) are necessary on both sides.

